DESIGN
SOCIAL SCIENCE
I. Weightage to form of questions :

Form of tions Marks of each N,“' of Q':" Tot
of Questi Questions se:i:il:ltllfll::li Marlll;]g
rs
Multiple Choice 1 20 |Sr.No.1t020 | 29

| Questions (MCQ)

1 Verv Short Answer (VSA) 2 4 | Sr. No. 21.to 24 _B__-_‘
Short Answer (SA) 3 5 | Sr. No. 25 to 29 1_5____
Long Answers (LA) 5 4 |Sr.No.30to 33| 20
Source Based Questions 4 3 |Sr.No.34to36] 12
Map Questions 3+2 1| Sr.No.37A 5

and 37B
Total 80
II. Unit wise Division of Questions
Unit No. & Marks | MCQ | VSA SA LA Map | Total
Subject Imark | 2marks | 3marks | 5marks 4;-;?11 Question
Question | Question | Question | Question | Question
1. Re d 27 5 i
Devﬂgilur ?;E;tﬂ (1) 1(2) 1(3) 2(5) 1(4) 1(3)
(Geography)
L
o ﬂaitgulciﬂy CUN IS I (6 N /) 1(5) 1 | w@ [ ¥
in Modern period
(History)
__.--*"'"H
M Boeoflaw el 2 | ™™ | 20 | 200 | 1wy | 10 | - [ ®
(Pol, Seience)
__.---""'#
Total B0 | 80|
__.---'"""'##
II1. Weightage to difficulty leve] ;
1. Easy :30% 2.Average : 509 3 Difficult : 20%
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MODEL TEST PAPER-I
CLASS-VIII (2024-25)
SOCIAL SCIENCE

Time allowed : 3 hours Maximum Marks : 80

General Instructions:

1.

10.

11

12.

There are 37 questions in all. All questions are compulsory. Question paper
comprises of Sections A, B, C, D, E and F.

Marks are indicated against each question.

Write the question numbers as given in the question paper while answering
a question in your answer book.

Section-A — Questions 1-20 contains very short answer questions (MCQ) of
1 mark each.
Section-B — Questions 21-24 are very short answer type questions. Each

question carries 2 marks. Answer of these questions should not exceed 40
words.

Section-C — Questions 25-29 are short answer type questions. Each question
carries 3 marks. Answer of these questions should not exceed 60 words.

Section-D - Questions 30-33 are long answer type questions. Each question
carries 5 marks. Answer of these questions should not exceed 120 words.
Section-E — Questions 34-36 are Source Based Questions (SBQ). Each
question carries 4 marks each.

Section-F — Question 37 is a map skill based question with two parts 37(A)
Geography (3 marks) and 37(B) History (2 marks). This question carries
total 5 marks.

In addition to this, separate questions have been provided for visually
impaired students in lieu of questions having visual inputs, picture based,
map ete. Such questions are to be attepted by visually impaired candidates
only.

There is no overall choice in the question paper. However, internal choice
has been provided in a few questions. Only one of the choices in such
questions must be attempted.

In addition to these, separate instructions are given with each section and
question, wherever necessary.
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e

10.

11.

12,

Wmﬁﬂ'gm_wmﬁmﬁmmﬁﬂﬁﬁ

TeE w7 & god ww frd MR

Wy 9§ B @e-#, @ T, R
m—aﬁ‘mmrﬁznﬁ@ﬁmmﬁlmmfﬂ?ﬁ?ﬂé;:
a@aﬁm#@rﬂ#mm?aﬁﬁg—mmﬁmmzﬂ
5 & vHE W9 F IW 40 Vel § sAfvw TE @ e

Gz & gvT e 25 § 29 7% TY-IWT WA 81 NAF WA 3 oF F;
# vHF W F1 IW 60 Wiwl § ofym TE g ey

ey T §¥T W@ 30 § 33 7% F4-3909 W9 8 TAF WA 5 FF F
g W T @1 IW 120 vl @ sifyw TE g =ifeu

T@Ue-T ¥ ¥¥7 W& 34 @ 36 & T ARG ¥ 8 §AF WA F 4 FF
& yaF W9 F 3-3 I9-WT B

que-v ¥ ¥¥7 §eq 37(A) SR 37(B) WAfA smf wew &y (3 IF)
#R o (2 %) W OV & Fa 5 qF & |

wF @ § gfeafya vl & R s gy fo mg & ot amRa
aﬂrmﬁamm&mwﬁ@#mmmmﬁﬁaﬁ
mﬁﬂ'#ﬁwm#mﬁma}gwqﬁg\;ﬁm‘ﬁm
T F @ bW WS d W dam ow @ fwey 9 o foad B



i

Section-A (@T-F)

Resources classified on the basis of occurrence are called (1)

A

B
C.
D

Inexhaustible and Exhaustible resources
Natural and Man-made resources
Biotic and Abiotic resources

Potential and Actual resources

IqEHA & HMR W Fied GEMEl & frefafgd 8 § fRE AW o W
s #2

A
B
C.
D

FEIE 3N GHrE T A WEA
TiFfas iR "Ma fafifa ganm
Sfaw IR oifaw Fanm
geifed iR amfas  wane

Which of the following is NOT a feature of a potential resource? (1)

A

Available in a country.
Resources that are not fully tapped.
Need detailed survey for estimating their quantity and quality.

Resources which have been thoroughly surveyed.

frafafas 94 & § &9 @ Fuq ‘genfag gEnE’ w1 favmar 9@ @2

A f&dt 2w § 3Iyes B

B.
C.

D.

Y8 oy e o a@ @ W T omn R
T TuEE SR A ATEA TR F f e e w1 st @)
ﬂ:#l#mmﬁammnﬁw%mwm
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Complete the sentence correctly with the help of any one option given
below :

When animals are reared along with the cultivation of land, it is known

as - : (1)
A. Commercial Agriculture B. Subsistence Agriculture
C. Mixed farming D. Shifting Agriculture

ﬁ%ﬁmmﬁWﬁﬁﬁwwﬁmmmmﬂEmﬁaﬁﬁn
q qU -
A o9 W e & we-ww el ® owed W fFEm oW @ W@

He1 T B
A =fofes =fw B. frmalg =f¥
C. fafsm =MW D. ARG g
Which of the following Indian state has the lowest sex ratio? (1)
A. Kerala B. Haryana
C. Uttar Pradesh D. Maharashtra
frfafas wwda ol § 9 ff o9 o fomque we@ w5 22
A HE B. sf@mm
C. TW WaW D, Wemre

Choose the incorrect statement from the following with respect to age
structure of the population : 1)

A. Age structure refers to the number people belonging to different age
groups.

B. People below 14 years comprising of dependent population.

a

Young population included the persons up to age of 69 years

D. People above the age of 59 years is known as the dependent ’
population.
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r_r.ﬂf

FAHE H T FEAN & Wy d fefafas wu 4 @ Tow YA 90
A, I A W dfoym fafam o wt ¥ @t @ wem @ R

B. 14 9 ¥ FW WY F @m anfm SHEen wead ¥

c. T g @ W 59 ¥k F wm wfne ww &)

D. 59 8 ¥ afuF g = F A w sufwm wewEnm wed

Match column 1 with column 2 correctly and choose the correct option as

answer ! (1)

Column 1 Column 2

1. Report of Simon Commission (a) 1858

2. Formation of Indian (b) 1929
National Congress

3. Power transferred to (¢) 1909
British Crown

4. Morley Minto reforms _ (d) 1885

Options :

A 1- 2-b, 3-a, 4-d B. 1-b, 2-d, 3-a, 4-¢

C. 14, 2-¢, 3-a, 4-b D. 1-a, 2-d, 3-¢c, 4-b

From | F1 Few 2 4 W freE FiAg #@R IW F w9 A W fawew i
e 1 HieW 2

. WEEq wHem & fae (a) 1858

2. 9 UEtg wimE i T (b) 1929

3. fafewr wre #1 WW 1 wE@ (¢) 1909

4. Wl favdl gur (d) 1885

oy

A' 1":-, 2"’bj 3'&1 4"d B' 1-b" z—d' 3-E'P 4-{:

C. 1-d,2-c, 3-a, 4-b D. 1-a, 2-d, 3-¢, 4-b
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Who amongst the following wrote the book “My Experiments with Truths™

A. Jawaharlal Nehru B. Bal Gangadhar Tilak (1)
C. Mahatma Gandhi

D. Bankim Chandra Chattopadhyay

frfafas § § 3R @ oew 3 V9 ¥ 9Y W W (AR THEeiE fag
z9)" W oEd e

A EE A AEE B. =@ WmR faerew
C. wew T D. &fFm 9% T
Arrange the following happenings in a chronological order : - (1)

(1) Jallianwala Bagh massacre
(i) Formation of Muslim League
(iii) Home Rule League

(iv) Partition of Bengal

Options :
A, (i), (i11), (1), (iv) B. (iii), (v), @), (ii)
C. (iv), (ii), (iii), (i) D. (i), (iv), (1), (iii)

Frefefan wenell #1 #6 woER sEfer =t
(i) wferdaren am zeme

(i) gfem &M %1 72q

(iii) g9 w1

(iv) 9me =1 fagres

famoy

A. (i), (iii), (1), (iv) B. (i), ( ), (i)
. e s 8 | Y Y 1 {iiJ
C. (i), (i), (iii), (1) D. (i), (iv), (i), (iif)




[dentify the leader shown in the picture, (1)

A, Kanhu Murmu

B.

. Tirot Singh

D. Bar Manik
faz 9 feam M AW w1 wEEfE-

Al

Birsa Munda

F T
fran et
frz fae
a1 A

Alternative Question for Visually Challenged Students

in lieu of Q. No. 9

Who amongst the following led the Khasi revolt in Assam in 1829 ?
A

B
C.
D

Kanhu Murmu

Birsa Munda

Tirot Sing and Bar Manik
Sidhu Murmu

Searfun whafddl & AT U7 W@ 9 & WM W ASfE U
W F (300 § feeifafEd @ @ R A @ R W ogE fFEoan
A = B. faw gel
C. fme fgg sk am =fF® D. fay ¥
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10. Identify the event in the given picture and choose the correct option 45
the answer : (1)

A. Sepoy Mutiny 1857
B. Imprisonment of Bahadur Shah Zafar 11

C. Proclamation Act of 1858 ]
D. Subsdiary Alliance with Awadh '

ﬁqmﬁaﬁnﬁémm’lﬁmﬁl{
sk s ¥ w9 ¥ wd fawes -

A 1857 @1 fauet fasiE

B, @ey WE WU H HY HC
C. 1858 w1 Igumon AfufEm
D

Iy & 9™ "edsd Teadd

 Alternative Question for Visually Challenged Students
in lieu of Q. No. 10

10. Which one of the following events led to the end of rule of East India
Company in India and started the rule of British crown in India ?

A. Sepoy Mutiny 1857

B. Imprisonment of Bahadur Shah Zafar II

C. Proclamation Act of 1858

D. Subsdiary Alliance with Awadh
qfwmﬁaﬂﬁmﬁ'ﬂ’ftﬁﬂt{mmw#mmww

ﬁﬁﬁ»{ﬁaﬁﬁﬁﬁmﬁm@ﬁmmmmﬁww@;
st fafew @A # OURE [E @ T Wn

C. 1858 I 3IgEmon HfufTad D.m#mwﬂﬁq
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Py i)

4

g, Choose the correct statement related to the Act of 1856 from the following:

A

D.

It ensured that the kingdoms without legal heir to be taken over by
the British. )

It made it compulsory for the new British recruits to serve in India.

It ensured the transfer of power from British East India Company to
the British Crown.

It made it compulsory for the new Indian recruits to serve overseas.

frfofas weAl o ¥ 1856 & orfufem | wmfyg W FuA w1 OFHC-

A.

B.

C.

D.

T 7% giifvea T o fam gl soofusd ot o9 WSS Fe
F

w4 qu fafew Gredl & fog wra A Fw F afEE w fEEm
T dw sfew w9 fafewm wed oA e e
U andE el & fag fakw A W@ wom afeeE w8

12. Match the column. 1 and 2 correctly and choose the correct option : (1)

Column 1 Column 2
Name of Social Reformers Place of Birth
1. Shri Narayan Guru (a) Madhya Pradesh
2. B.R. Ambedkar (b) Andhra Pradesh
,.___3_'_ Veersalingam (¢) Tamil Nadu
4. Periyar EV Ramasami (d) Kerala
---'-'_—_
Options :
A 1 2b S.a 4d B. 1-b, 2-d, 3-a, 4-¢
C. 1., 2-a,3b,4c D. 1-a,2-d,3-, 4-b
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Fem (1) 7 Ffam (2) & W@ fEE F-

e | wew 2
OIS YU WH ™
1. S AR T (@) WA Wy
2. WIR T (b) 3 Ww
© e () g
4. e TERETH ; (d) @ -
T —
faweg
A. 1< 2-b, 3-a, 4d B. 1-b, 2-d, 3-a, 4-c
C. 1-d, 2-a, 3-b, 4-c D. 1l-a, 2-d, 3-c, 4-b

Which of the following is/are correct reason/s for launching the Nop-
Cooperation Movement ? (1
1. Injustices done by the British in Punjab.

2. Against the Simon Commission

3. Injustices done by the British in Turkey.

4, Partition of Bengal by Lord Curzon.

Options :
A. 1 and 2 are correct B. 1, 2 and 3 are correct
C. Both 1 & 3 are correct D, Only 4 is correct

g AR & W % foy fefofe sl § @ @ @ s W@
. Yom ® Sl g0 fEw oM s

2. UEWA FEAWA w1 dfEessn)

3. 2z H #AGS g fEm o amm

4, o€ & P M@ F fawrsE)

faseg
A 1 Fr 2 w&@ 7 B, 1.2 sk 3 m& &
C. 1 &R 3 2 w& % D. waa 4 @& 2
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Who amongst the following is the ‘Head of the State’ in India ? (1)

A. Chief of the defence forces B. Prime Minister
. President D. Chief Justice of India
ﬁqﬁfﬁﬂﬁﬁwﬁ'ﬂmfﬂwﬂa'ﬁq%?
A TR WA F THE B. W
C. Tgufd | D. WRd % q& =t

5 Fill in the blanks with the appropriate option : (1)
In 1976, were added to Indian Constitution through the

42nd amendment.

A, Emergency provisions

B. Fundamental Duties
C. Directive Principles of State Policy

D. Writs
W fawey ¥ fam wm wf@-
1976 H 429 wiv" & WEW @ 1 AR wfEuE A S
™o
A AYEEEE wEeE B. Hifts W
C. ™= % Hifa-frews fag - D. fewm

© Which one of the following is empowered to issue the writs to protect the
Fundamental Rights ? (1)
A. Supreme Court B. Parliament
C. Counecil of Ministers D. Prime Minister
e sfmrd #t w0 % fo Frefafas & @ #R R W W wwa
A wEts = B. dug
C. vifsafiye D. wurst
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17.

18.

Which one of the followin

constitution ?

g freedoms is NOT guaranteed by the Ing;
iy
t}

Freedom to speech and expressions.

A,

B. Freedom to assemble with arms and ammunition.

C. Freedom to form associations.

D. Freedom to practice any profession.

e o @ AR @ e T SRR BT R R

A s s sfwefs &1 @A

B. ﬁmﬁ’amrﬂwméﬁmqmﬁﬁaﬁmﬂm

C. §g =94 & ol

D. FE ff EE@ ®E FH FaAd

Choose the statement which 1s NOT true regarding the election of the

Vice-President of India : (1)

A The Vice-President is elected by members of the Rajya Sabha..

B. The Vice-President is elected by the elected members of the
Parliament.

C. The election process is held in accordance to the Single Transferable
Vote System. _

D. The Vice-President is elected for the period of 5 years.

Wﬁﬂ—mﬁﬁmﬁmmimaﬁﬁ_

A I9-TEA F WA T AW F GSEl g fEW s g

B. wy-Twef # GA WAR % fifen wxed gu fawr e

C. 7@ THA T HA T FU FHEE W 2

D. 3u-u=dfd & 5 96 & fou fagea fem W@ #
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{9. The President can proclaim emergency on the written advice of

20.

e : (1)
A. Speaker of the Lok Sabha

B. Chief Justice of the Supreme Court

C. Vice-president of India

D. Union Council of Ministers

In the question given below, there are two statements marked as
Assertion (A) and Reason (R). Read the statements carefully and choose
the correct option : (1)

Assertion (A) : The judges of the Supreme Court remain in office till they
attain the age of 62 years.

Reason (R) : Once a judge is appointed, she/he cannot be removed from

office under normal circumstances.

Options :

1.

2
3.
4

Both (A) and (R) are true and R is the correct explanation of A.
Both (A) and (R) are true and R is not the correct explanation of A.
(A) is correct but (R) is incorrect.

(A) is incorrect but (R) is correct.
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# frd @ T F AR (4) o

9 feu mu g # g wud f@ M
Mmmﬁﬁam%

w # s (R) g otwa fm o d
aq I F w9 § wh fwew # gL
aﬁaﬁmmmmm-

shrFa (A) : AT e % AR 62
w W wEd e |
R (R) : UF 4% Fgw @ I F

q T A W w2
sfge (A) @a R0 (R) 3 @@ & 3 (R) (A) F wE faamy

e (A) @91 FRU (R) 3 @@ & wg (R) (A) F1 T wedam
& B

3. s (A) W@ ¢ 9fF F (R) T R

4, W[A)w%ﬁm.m(mnﬁ%u

mmqﬁﬁﬂhﬁﬁﬁmm:

|

2.

Section-B (GE3-9@)

21. How does climate affect distribution of population ? Explain. (2)

weayg fFe yeR ween famw # wfad & 27 e S

22. Explain the condition of Indian industries before and after the industrial
revolution in Britain. (2)

wrdta e # feaf @ fRn § sk @t 4 wed ok &g @ e
FT HFHEH Hifa
23. Show with the help of two examples that India has an independent -
judiciary. (2)
(OR) ( argar)
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24.

25.
26.

2.

28,

Explain any two features of the Indian Constitution that make India a
gecular state.

qrdta ®fEUF ® I D et #t omen #ifw @ ogwE @ weROE
= T 87

On Earth Day the students took a pledge to ‘say no to plastic’. To which
Fundamental Duties does this pledge relate ? (2)

gl fee W ol 3 wifes =1 ow@m 9 =@ # owe wn w9 v
frg Tfes Fdsal ¥ gmy wmE D

Section-C (@E-T)
State any three reasons responsible for high density of population in a
region. (3)

et o3 o SoEn & IfuF wE & v swEEt FE d9 Fnw fafau

‘The Mahalwari system proved to be a curse for the peasants.’ Justify the
statement. (3)

‘e ogaw feaml o fou afwem fog @ U oW owE SEwsd)

Explain any three economic causes of the revolt of 1857. (3)
1857 & fagle & fe dF onfds Swol = =ren s

(OR) ( 319ar)
Explain the revolt of 1857 as the First War of Independence.

1857 & fogle &1 WG & WUW w@AAdl AW % ®9 W Sgem difw)

‘India has a Single Integrated Judicial System.’ Support the statement
with suitable arguments. (3)

‘YR ¥ T e At W 8 W F F v I ad dfg
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29. Explain the process of appointing a minister in Union Council of Ministey,

Mr. Sarkar is a minister in the government but is not a member of any

House of the Parliament. How long can he continue as a minister ?
S uhRee W @ PR @ g WE S

i wER" wER § T T § W T Ol T F wm w g
o 9 7F O R W W T T TAA O (2413,

Section-D {r‘!'!-ﬂ)

Explain any five factors affecting the. formation of soil. (5)

g % fem @ wafs w9 a9 R e wwE F#osmen S
(OR) (3r7ar)

30.

Explain any five measures of the conservation of soil.
g TV % FE UE IUE W i
Explain the importance of agriculture for the people around the world. (5)

7 fava & @m ¥ fou F F weE F we w6
(OR) ( a19ar)

31.

Explain any five important features of plantation agriculture.

ey Ff (dumew) # fEE ofe favivaet @ e st

nce |

32. Explain the Dandi march as the beginning of the Civil Disobedié
(6) *

Movement in 1930.

g@ﬂﬁﬁl%ﬂﬁﬁqmmmqﬁ%mﬁ;ﬂﬁﬂﬂ@ﬂ'

wifag|
(OR) (3rgar)
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Explain five happenings that led to Quit India Movement, 1942

(042 % A BIY ARTH H SR A TN Awh R ot wons #ooen
Ff

Explain the powers and functions of the Supreme Court of India.  (5)
g@ ¥ v e ® v @ s # osmen st

(OR) ( 3rgar)
Explain any five features of the Lok Adalats,

#F seen & fEel uw favmws @ we s
Section-E (®E-¥F)

Read the source given below and answer the questions that follow:

The quality and the quantity of people of a country determines its human
resource. Healthy and well-educated people contribute to their respective
societies in positive ways. Malnourished and illiterate people, on the other
hand, cannot contribute much to their respective societies. Human
resources are well developed in Japan as people are skilled and technically
developed. African nations, inspite of being rich in resources, are less
developed as most of the people are unskilled and illiterate.

#4.1 Explain human resource development. (1)

342 How can humans make best use of natural resources ? (1)

343 Highlight the qualities of human resource that makes a country

developed. (2)
ﬁﬁqmmmqﬁaﬂtfmﬁﬁiﬂm*mﬂm—
foeft 2y & e w e A A IEE AEE wEed B feif s g

mmwﬂﬁmm.-mmﬁwmaﬂﬁﬁmﬁf|
@ﬂm.gﬁm@:mﬁﬁmm—mmﬁmm?ﬁ%m

an




?IW&WWMWﬁW%mWWW
w1 3 Ffm & e dw gand @ W R F TR W g

wﬁmmwaﬁimﬁmﬁ'

341 ‘mee gon fagw w1 ad T
34.2@9@&*Mﬂaﬁﬁnm%ﬁﬁmﬂ?
34.3 mmﬁﬁmwﬁmaﬁm‘?ﬂmﬁ%ﬁﬁmmm

35. Read the source given below and answer the questions that follow;

The main objective of the East India Company was to make profit a4
not to take over the responsibility of educating Indians. Though the
missionaries opened a few English schools, their purpose was to promote
Christianity. The British wanted psychological slavery of the elite class
of the Indian society. They also believed that teaching of westem
education through English as a medium wouold civilise the people of
India. This would change their taste, value and culture and develop a

taste and desire for the British commodities.

35.1 Highlight any one negative feature of the British education system
introduced in India. (1)
35.2 Highlight the positive aspect of Wardha Education Scheme. (1

35.3 Differentiate between the Orientalists and the Anglicists. @

A e M owE #w W oeR fefafan gl & osw G-
WWMWﬂﬁﬁﬁwwﬂmmmqfqWﬁW
Wﬁﬁtﬂﬂﬂﬁmlmﬁ?ﬁﬁﬁﬁ@m%w_ﬁﬁﬁm. :
W@ﬁﬁmmmmlmmmﬁwﬁaﬂm
ﬂﬂﬂﬁ%ﬂﬂlmﬂ!ﬁﬂﬁmﬂrﬁ;aﬁﬁﬂmmﬂqﬁﬂﬁmm
W*@Tﬁﬁwmrmwmﬁ_wﬁwﬁﬂﬂm
aﬂtﬁﬁmaﬁaﬁ%wﬁ_maﬂzﬁmﬁﬁﬂml
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o § YE A fafew fen womeh ® R ww AR e AR

35.1

e
35.2 aui o ASE F WEWHEH 9§ H IAR I
35.3 gl it sieafal & d@w s we Hif

5. Read the source given below and answer the questions that follow :

The Vice President of India is the ex-officio chairman of the Rajya Sabha.
Like the Lok Sabha speaker, she/he also presides over the meetings of
Rajya Sabha, conducts its proceedings and maintains the discipline and
decorum of the house. Since, the Vice President is not a member of the
house, she/he cannot vote on any issues, whereas the Lok Sabha speaker

can.

36.1 The members of which house of Parliament elect the Deputy Chairman
of Rajya Sabha ? (1)
36.2 Why can the Vice President not vote on any issue like the Speaker of
the Lok Sabha ? (1)

36.3 State any two functions of the Vice President of India. (2)
ﬁﬁqwﬂaﬁqﬁ'aﬁtﬁﬂf&lﬁﬁﬁ-wﬁﬁ?mﬁm—
wwmﬁmwmnﬁawﬁlﬁm%lmmﬂﬁm
aﬁﬁmmaﬁﬁaﬁﬁmwmf.mﬁmﬁmﬁaﬂmmﬁ
%aﬂxwéﬁwaﬁtmﬁmr@ﬁ%l.ﬂﬁmﬁiw%
mﬁ%,mﬂﬁaﬁﬁg@mwaﬁmm%mm
gy T GHA B

mwmﬂ?mmﬁrwmi?

& we @ TR W dre ;O X wwa?

6. wgg & {8 A X
%2 TRrEdfq; @egd 6 AN
36.3qnaaqmqﬁ$ﬂﬁﬁﬁl$ﬁtﬁml
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Section-F ( @8-¥)

37. (A) Two places A and B have been marked on the given outline map of
the world. Identify them and write their correct names on the lineg
marked in the map :

A. Region of high rainfall (1)
B. Major wheat producing area (1)

On the same political outline map of the world locate and label the
following :

C. Major low rainfall area in Southern Africa (1)

For ¥ fau T gedifis Yo afes w A @ B 9w w5t fafed e
T OBl 3E WEH SR I uw @l W@ W oS 98 W fafes

A fuw a5 e &3

B. W@ T IOE® &

R & I qEifos wmfam w frefafan w0 fafed wt sgE @@ am
fa[-‘gq__

C. W@ ¥ %4 99 3o &3

Alternative Question for Visually Challenged Students
in lieu of Q. No. 37 (A)

37.1 Which region of Asia receives high rainfall ?
37.2 Name one major wheat producing area in North America.

37.3 Name one region of low rainfall in Southern Africa.
mma?{mﬁ:mmmw&mmm
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g. (B) On the outline political map of India locate and label the following:
(2)
(A) The place associated with Van Gujjars.

Identify and write the correct name on drawn line
(B) Indian National Congress session at this place in 1929.
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Alternative Question for Visually Challenged Students
in lieu of Q. No. 37 (B)
A.  Name the place associated with Van Gujjars.

B Name the place where Indian National Congress session of 1929 took
place. (2)
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Map for Q. 37 (A)
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Map for Q. 37 (B)
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